

November-04-11
9:46 AM

$$\left\{ \left\{ \xi \rightarrow \frac{-\text{Log}[e^{-\alpha x - \beta y}] + \text{Log}\left[\frac{\alpha x + e^{-\alpha x - \beta y} \beta y}{\alpha x + \beta y}\right]}{x}, \eta \rightarrow -\frac{\text{Log}\left[\frac{\alpha x + e^{-\alpha x - \beta y} \beta y}{\alpha x + \beta y}\right]}{y} \right\} \right\}$$

claim. Under $[x, y] = C_x y - C_y x$,

$$e^{\alpha x + \beta y} = e^{\xi x} e^{\eta y}, \quad \text{where (with } \gamma = \alpha C_x + \beta C_y \text{):}$$

$$\xi = \frac{\log \frac{\alpha C_x e^{\alpha C_x + \beta C_y} + \beta C_y}{\alpha C_x + \beta C_y}}{C_x} = \frac{1}{C_x} \log \frac{1}{\gamma} (e^{\gamma} \alpha C_x + \beta C_y)$$

$$\eta = -\frac{\log \frac{\alpha C_x + e^{-\alpha C_x - \beta C_y} \beta C_y}{\alpha C_x + \beta C_y}}{C_y} = -\frac{1}{C_y} \log \frac{1}{\gamma} (\alpha C_x + e^{-\gamma} \beta C_y)$$

So I'm good at copying eqn's.
Now what?

$$\begin{aligned} [x, y+z] &= C_x y - C_y x + C_x z - C_z x \\ &= C_x (y+z) - (C_y + C_z) x \end{aligned}$$

